o S AcCBY BA A2?

O A ={x|xE 69 o), B= (x| x= 129] oF=
@ A={x|x=&5),B=1{3,5 17,9

® A= {x|x= bt 22 AA4), B={1, 2, 4)
@ A= {x|x= 19 85, B = {x]|xe 39 v

@ A - {1’ 3’ 5’ 7}’ B - {2’ 4’ 6’ 8}



H7]
@ {0} c {0} © 0¢o © {0}cw
@ @eio, 0 © {a} C{a, b}

D EE

D EE




Q@ 4 Hrh 22 Ao 1Y

© ToheE & A& Al Y

© 1 Kt} 3302 Hop 242 29| 2l
® 79 vl Bl

@ 430341 ol Y = seAte] 2

® 17 @ 27 @ 37 @ 4 7 ® 574




e % 82 27

oo
Mo

=
K

® A={1, 3, 5}°|H nA) =5

@ A= {xlx =69 =} oA n(A) =6
® n({a, b, c}) —n(fa, b}) = {c}

@ n({0, 1, 2})) =3

® n({1, 2, 3} -n({1, 2}) =3



=
=

H41, 3,5

7t 82 49 o, Q5 n 9 2

©9

2~
M

2A A

I+

ok

Al &

=

ks

@9 ® 10 @ 11 ® 12

@ 8



